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Problem For which X are the following functions defined and differentiable?

Calclulate their respective derivatives,
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Problem 2: Show that the derivative of an even function f: % — R is odd.

Show that the derivative of an odd function f: %= R is even,

Problem 3:  Find a rational number )(Q@ such that [ X~ ,S—%— ’ < 0.003 .
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Problem 4 Lot abe [R | ac b 1 £ [Q'q — R be a differentiable function,

Show:
(@) 1 §(x) =0 for all xc(a,L), then fis constant.

(b) 1 §'(x) = §(x) for all xe(a,b), then J(x) = ce®

for a constant C € fR

Problem 3.  Find a rational number )(Q@ such that ( X~ ,5—%— ’ < 0.003 ,
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Problem 2: « Show that the derivative of an even function f: % — R is odd.

L, Show that the derivative of an odd function f: T—= R is even,
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Let a,be R , a< b, e [Q;q —> R be a differentiable function.

Show: mean value theorem

(a) 1If 5\(X) =0 for all XQ(o\,L) , Then j:is constant,

() 1§ (<) = §(x) for all xe(al), then F(x) = ce’

for a constant c € R
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